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QID : 101 - Select the related word from the given alternatives.
Office : Colleagues :: Home : ?

fu e famedt & @ Wefid 2eg &t ghul
P : AgHH 1 W1 ?

Options:

1) Rest

SRH

2) Work

DH

3) Friends

4) Family

AR

Correct Answer: Family

Candidate Answer: Family

QID : 102 - Select the related letters from the given alternatives.
XVT:RPN:LJH:?

fau e fawedt & § Hafia siert &1 ghul

XVT:RPN::LJH:?

Options:

1) FDB

2) ECA

3) KIG

4) QOM
Correct Answer: FDB
Candidate Answer: FDB

QID : 103 - Select the related number from the given alternatives.
0.04:0.2::0.09:7?

fau e fawedl # § Wefid S a1 ghe|

0.04:0.2::0.09:?

Options:

1)0.3

2)0.6

3)0.9

4)2
Correct Answer: 0.3
Candidate Answer: 0.3

QID : 104 - Select the odd word from the given alternatives.

faw e fased! # & faww wrea 1 ghul
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Options:
1) Chair

2) Bench
CE|
3) Bed

fowR
4) Sofa
wT

Correct Answer: Bed

Candidate Answer: Bed

QID : 105 - Select the odd letters from the given alternatives.

fou e fawedt & @ faww srert & gfwl
Options:
1) CEG

2) UXZ
3) ORT

4) ILN
Correct Answer: CEG
Candidate Answer: CEG

QID : 106 - Select the odd number from the given alternatives.

feu U fawedt & § fawy T & gl
Options:

1) 75

2) 65

3)82

4) 85

Correct Answer: 82

Candidate Answer: 82

QID : 107 - A series is given, with one word missing. Choose the correct alternative from the given ones that will complete the series.
isobar, artist, statute, teapot, otters, ?

T I far T B, R e wieg g 81 fou 7 fawedt  F a8 Wt fihed g S oigsh e &) 11 &R

isobar, artist, statute, teapot, otters, ?
Options:

1) pencil

2) erect

3) tongue

4) meter

Correct Answer: erect
Candidate Answer: erect

QID : 108 - A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
XX, XOX, XXXX, XXOXX, XXXXXX, ?

T 3Ry foar T g, o U ug gw g1 fau e fawed # § 95 wel fawed 9 St SR E &1 Oy

XX, XOX, XXXX, XXOXX, XXXXXX, ?

Options:

1) XXXOXXXX

2) XXXOXXX

3) XXXXXXX

4) XXXOXXX0
Correct Answer: XXXOXXX
Candidate Answer: XXXOXXX

QID : 109 - A series is given, with one number missing. Choose the correct alternative from the given ones that will complete the series.
3,5/3,1/3,?,-7/3,-11/3
T 3gehd 3o T 8, o U e g 81 fou U fawedt # ¥ 95 UEt fiwed g o Siwy B [T R

3,5/3,1/3,?,-7/3,-11/3
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Options:
1)-2/3

2)-4/3
3)-1

4) -2
Correct Answer: -1
Candidate Answer: -1

QID : 110 - Divit's birthday is on Friday 30t June. On what day of the week will be Samar's Birthday in the same year if Samar was born on 15t November?

f2fad &1 SHAfe YhaR 30 9 B T A TR BT H 15 TaaR ST g3 41 dl I 9 TR F7 w=ie qwrg ¥ b e gme
Options:

1) Tuesday

HITAAR

2) Friday

RhdR

3) Wednesday
YR

4) Saturday
RIBGIN

Correct Answer: Wednesday
YR

Candidate Answer: Wednesday
qUdR

QID : 111 - The weights of 4 boxes are 100, 70, 50 and 90 kilograms. Which of the following cannot be the total weight, in kilograms, of any combination of these
boxes and in a combination a box can be used only once?

IR TG BT g5 100, 70, 50 3R 90 e B1 Fufafd 7 ¥ g & e ot Jaem S oo oo, fFamd 8§ B9 91 761 8 9ol § 3R TP e § Uh I Uh
B IR T & o S Geba 82

Options:

1) 310

2) 260

3) 230

4)210

Correct Answer: 230
Candidate Answer: 230

QID : 112 - From the given words, select the word which cannot be formed using the letters of the given word.
RECLINES

frafafed fowedl # ¥ 98 Xeg Y off T T XMeg & 1&RT BT JA Bb o] ST ol Gabdll:

RECLINES

Options:

1) SINCE

2) RELIC

3) LINER

4) SCARE
Correct Answer: SCARE
Candidate Answer: SCARE

QID : 113 - If REGAINS is coded as QDFZHMR, then how will PRY be coded as?

g REGAINS %! {3l %S #f QDFZHMR a1 ol 8, df PRY &1 It v & o feran wmwem?
Options:
1) BIX

2) 0QX
3) LFT

4) PSU
Correct Answer: 0OQX
Candidate Answer: 0QX

QID : 114 - In a certain code language, '+' represents 'x', '-' represents '+', 'x' represents '+' and '+' represents '-'. What is the answer to the following question?
45x5+2-20="7?
5 P U H, '+ BT AdAs X' §, - BT AT '+' 8, 'x' BT Hadd '+' 8 3R '+ BT Adas - 81 Fafifed uy &1 Sw a2

45x5+2-20="?
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Options:
1) 17

2) 81
3)38

4) 64
Correct Answer: 38
Candidate Answer: 38

QID: 115 - If 5@1=60; 12@8=200; 16@2=180; then what is the value of 16@10=?

e 5@1=60; 12@8=200; 16@2=180; Il 16@10 = ? T A F1d B
Options:

1)32

2) 11

3)9

4) 260

Correct Answer: 260

Candidate Answer: 260

QID: 116 -

Select the missing number from
the given responses

few av faewedt 7 & o
Tear g

104 ? | 57
8778 9
103 78 | 25

Options:

1) 35

2) 47

3) 54

4)78

Correct Answer: 47
Candidate Answer: 47

QID: 117 - Two women A and B are shopping in @ mall. They start from the same point. A walks 150 m West, then turns to her left and walks 160 m. B walks 140

m East, then turns South and walks 160 m, then turns to her left and walks 120 m. Where is B with respect to A now?

& AR A 3R B U% Tt H WilagR) #R W &1 9 U & fig I snd ot §1 A Uit &t 8iR 150 Hiex a6 gt 8, fohR oot o1 $iR gg ot § 8k 160 e

T et 71 B gd Bt 3R 140 Hiex % Tl 8, O aféor ot 3iR g oIt § oiR 160 Hiex d& Fardt 7, R oo 12 ok g et 8 SR 120 er o aad g1 A &t

fRufa § 3/ B pel W2
Options:

1) 410 m West

410 ez ufgm

2) 410 m East

410 Hex g

3) 170 m East

170 tex gd

4) 170 m West

170 Hiex 9fgm

Correct Answer: 410 m East

410 fiex qd
Candidate Answer: 410 m East

410 Hex gd
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QID : 118 - In the question a statement is given, followed by two arguments, I and II. You have to consider the statement to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given arguments, if any, is a strong argument.

Statement : Should eating paan at public places be made punishable?

Argument I : Yes, people eat pan and spit and makes public places dirty.
Argument II : No, Indians love paan.

U H U Sy o T @ R oY &) I 1 3R 11 T T €1 3Tues) AT § b U 9 ® TR 98 g T1d 9l @ fir udfia gl €11 enmuet fRifa s 8 @t
U U df F | BI-T/BI-Y deb Al €, IS BIS B

YT T YEWb RIFT TR GH G 8- 8T T w?

AP 1: 51, T U WM & 91E Y & 3R Trdei-e UM Bl 71 B 7|
T II: T2, HRAIE! ) U T U9iE g

Options:

1) if only argument I is strong.

F1e Pad db 1 Aogd B

2) if only argument II is strong.

gfe Hae d% 11 Jored g

3) if both I and II are strong.
e g1 ad 1 3R 11 A9ied g
4) if neither I nor II is strong.

gfe A @ b 1 3R 1 € db 11 Teled 7

Correct Answer: if only argument I is strong.
e Had ad [ Aued 2

Candidate Answer: if only argument I is strong.

Ife Paa I [ Aved B

QID: 119 -

Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

ﬁmﬁ‘@a’ma@ﬁﬁﬁaﬁhmuﬁ
frar g ypfa A d g aa &
AT ARl ST qhar?

Ol HL]

Options:
1)

2)
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Correct Answer:

Candidate Answer: [ NOT ANSWERED ]

QID:120-

In the following figure, square represents Optometrists, triangle
represents Painters, circle represents Vegetarians and rectangle
represents Men. Which set of letters represents painters who are either

men or vegetarians?

ﬁyﬁf@ﬁ&n@ﬁﬁ,aﬂﬁﬁrﬁﬁaﬁaﬂﬁmﬁ,%maﬁ
Sl B, 99 AHERIEl & G/idl & 3R d @l giar g
HERT &1 B 91 ¥Hg EGRI &I GUial § &I a1 df 4oy g a1

AHERI 52

Options:

1) D,F

2)EB

3)H,G,F

4) ACE

Correct Answer: E,B
Candidate Answer: E,B

QID: 121 -
Which answer figure will complete
the pattern in the question figure?
Prfaf@a F 4 sl e g wea
gl & wfaeT @ Fui?

/
/
A/ N
/
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Options:
1)

3)

4)

Correct Answer:

\
\

Candidate Answer:

\
\

QID:122-

From the given answer figures, select the
one in which the question figure is
hidden/embedded.

& 71 3ea¥ agfaEt A & 3@ anpla & glv
St et gl Afka 8
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Options:
1)

Correct Answer:

Ly

Candidate Answer:

QID:123-

A piece of paper is folded and punched as shown below
in the question figures. From the given answer figures,
indicate how it will appear when opened.

9 AHIAAT # B@T 3FaR FEvE H
AlgHT 3TH Fg A dUr-Welad & ¢ dg
e 3car i ST fears &am?
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Options:

X

2)

]

4)

Correct Answer:

Candidate Answer:

QID:124-

If a mirror is placed on the line MN, then
which of the answer figures is the right image
of the given figure?

e vF 4T F MN @7 9T T@T AT A
Iead HIpiaal A § il Wi 9 FPi
&1 wer wiafars gefe

M
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Options:
1)

Correct Answer:
o

Candidate Answer:
o

QID: 125-

A word is represented by only one set of numbers as given
in any one of the alternatives. The sets of numbers given in
the alternatives are represented by two classes of alphabets
as shown in the given two matrices, The columns and rows
of Matrix-I are numbered from 0 to 4 and that of Matrix-II are
numbered from 5 to 9. A letter from these matrices can be
represented first by its row and next by its column, for example
'K’ can be represented by 42, 34 etc and-'Z' can be represented
by 96, 79 etc. Similarly, you havé to identify the set/for the
word 'ROAD'".

UF eE dae UE HEA-HAF AW gxim amm g, St
Fwedl & & el v & R ma & Reet # R aw
dea-aag et & & aeit g g aw § St & R
T KR A gl Wl & TR AR dfEa & dem
0 % 4 3t Jmegg-ll F 5 F 9 ) o megEt F UE I
H 9gar IEd dfed N g A TaEN wEa ganT g o
WA B SRR F AT K W 42, 34 X gEwr guvr S
aEAT & AW 2w 96, 79 MR gawr gvfam o wear &)
= e @ A wa # RE g ‘ROAD & fov @

FI OEET Bl

Matrix | Matrix 1l

HTEE -1 -li
(1] 1 2 3| 4 5 & 7 B @
O|L|K|A|F|H S5|a|s|R|U|Z
1 K 1 I €| D & 8 R|O|V|T
2|)V|EJE|E]|F 7Tjoju|v]|s|2Z
3| Mm|1|A|E|K BIV]IY|T|¥Y]S
4 |M | B K cC| G a9 ¥ Z|o|u |V
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Options:
1) 24,14,67,76

2) 30,22,86,56
3) 66,67,02,14

4) 13,43,56,86
Correct Answer: 66,67,02,14
Candidate Answer: 66,67,02,14

QID: 126 - The exchange rate is the relative price of foreign goods in terms of domestic goods.

fafm & 3=t avg & Tu H fa3=ht axgall 3t ey #iud B
Options:
1) Artificial
2) Nominal
3) Fixed
g
4) Real

Correct Answer: Real

Candidate Answer: Nominal

QID: 127 - is an alternative way of representing the production function.
IaeH Ha B Ui FR7 &1 Uh ddbfers U g

Options:

1) The Short Run

SfegepTel

2) The Long Run

3) Isoquant

JH HEAT

4) Average product
T I

Correct Answer: Isoquant
Y °JEAT

Candidate Answer: Average product
3dlq

QID : 128 - "United Nations Organization" is listed in the list given in the Seventh Schedule in the Constitution of India.

"R Y " HRA F AU BT Araal oy § Al & ¥ gl |
Options:
:I:) Union

2) State

RS

3) Global

fay

4) Concurrent

Correct Answer: Union

Candidate Answer: Union

QID : 129 - There are total parliamentary seats (Rajya Sabha constituency) in Punjab.
ToTe | A Toetg AiE (g et ) 71

Options:

1)7

2)1

3) 18

4) 10
Correct Answer: 7
Candidate Answer: 7

QID : 130 - Big landlords or warrior chiefs in the seventh century were acknowledged as by the existing kings?

Tradt It & 72 Y 3R TGT-IRER B I T0Y & e {59 &Y & 7=yar od A2
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Options:
1) Rashtrakutas

2) Chalukya

3) Samantas

HTH

4) Brahmanas

ElRU

Correct Answer: Samantas
RIILES]

Candidate Answer: [ NOT ANSWERED ]

QID : 131 - The Agra fort was built by

SR foret &1 FAafor 3 wovaman ol
Options:

1) Shah Jahan

Mg STet

2) Akbar

bR

3) Jahangir

4) Babur
EISK

Correct Answer: Akbar
SHeR

Candidate Answer: Akbar
Shar

QID : 132 - How many states does India have as of June 2017?
S 2017 9% YRA H fora= I 82

Options:

1) 26

2)27

3)28

4) 29
Correct Answer: 29
Candidate Answer: 29

QID : 133 - The northern plain of India has been formed by the interplay of the three major river systems, namely— the Indus, the Ganga and the

HRT & IR A A T 1 yonferdt ¥ 79 § o Rig, ek )

Options:
1) Brahmaputra

SRIgA
2) Krishna

Eauull
3) Kaveri
Brad

4) Mahanadi

Correct Answer: Brahmaputra

ERLE]

Candidate Answer: Brahmaputra

SIeTgA

QID : 134 - In the names Mangifera indica (mango), Solanum tuberosum (potato) and Panthera leo (lion), what does the three names, indica, tuberosum and leo,

represent?

Heftther a1 (3m), T TgdReH () SR Ut farsf (W) 37 T 351, cgdRiaw iR forsht @ wfoffra aed &2

Options:
1) Binomial Nomenclature

2) Taxonomic Hierarchy

3) Identification
EEEIREI
4) Specific Epithet
Ibd UG
Correct Answer: Specific Epithet
S Tohd UG
Candidate Answer: Taxonomic Hierarchy

afifet vergen
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QID: 135 - are chlorophyll-bearing, simple, thalloid, autotrophic and largely acquatic (both fresh water and marine) organisms.
FARIpagad, T, Adias, WA qUT Ted: JTag (3reaulia e quT THEt g1 &1) sid g

Options:

1) Pteridophytes

2) Bryophytes

3) Algae

Aa1a

4) Gymnosperms
Correct Answer: Algae

Candidate Answer: Bryophytes

QID : 136 - Animals like annelids and arthropods etc where the body can be divided into identical left and right halves in only one plane, exhibit
symmetry.

Tfers 3R smfars, anfe & ueh &) efef I TR arcl T gRT IR & TASY g T §1T AT H FieT S Tl 31 5 AT PEd
Options:

1) Coelenterata

2) Radial

3T

3) Ctenophora

R

4) Bilateral
Correct Answer: Bilateral

Candidate Answer: Coelenterata

QID : 137 - If the orbit of a planet is an ellipse then what is the point at which the Sun is located called?

e, 76 B e eigd 7 < 98 fig o R g S 8, 7 weaar 22
Options:

1) Centre

Cy

2) Circumcentre

3) Incentre

4) Focus
By
Correct Answer: Focus

Qandidate Answer: Centre

QID : 138 - The sliding friction is than the static friction.

Juf eefor, R g ¥ ___ g gl
Options:

1) double

(351l

2) same

THIDPR
3) greater
3HfIH

4) smaller
DH

Correct Answer: smaller
DH

Candidate Answer: smaller
DH

QID: 139 - optical data storage is a technology where data is stored in multiple layers in the optical disc.

JHPHd STeT WSl Th WDt 8, Sgl STeT &I ed 33 R &3 udi & HaId faar Sirr 71
Options:
1) 3D

2) 30D
3) 300D

4) 3000D
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Correct Answer: 3D
Candidate Answer: 3D

QID : 140 - Kelvin (K) is the unit of measurement of

Fed (K) oA & 3678 8
Options:

1) Density

YId

2) Pressure

Qg

3) Mass

SAHA

4) Temperature

drgH

Correct Answer: Temperature
digH

Candidate Answer: Temperature
GIECIE]

QID : 141 - What is the process of rust forming on iron called?

e IR ST T P Ul Y T BEd 77
Options:

1) Rusting

ST AT

2) Crystallisation

fopRediax

3) Shovel
A
4) Spade
LCIRES

Correct Answer: Rusting

ST T

Candidate Answer: Rusting

ST T

QID: 142 - acts as a shield absorbing ultraviolet radiation from the sun.

T ¥ A ara Wit ffRor (sregrardde IEuRM) S sa=iitd HRA ald dad &1 S S |

Options:
1) Chlorofluorocarbons

2) Stratosphere
JAAgHSA
3) Ozone hole

4) Greenhouse

Correc_t Answer: Stratosphere

HHAUHSA

Candidate Answer: Ozone hole

e g

QID: 143 - scheme launched by the Central Government aims to spur social, economic and infrastructure development in rural areas by

developing a cluster of 300 Smart Villages.

F% WHR gRI YE B T8 IS BT IRT 300 WATE TGt BT fIBT e Ao &t & ranfores, e ok smenes e & fawm o wienied a1 3|
Options:

1) Soil Health Card

T3] WA B

2) Shyama Prasad Mukherji Rurban Mission

T TG Gl $R-37a feH

3) Pradhan Mantri Fasal Bima Yojana

YTHAT B S

4) Prqdhanmantri rojgar yojna

AT ISR e

Correct Answer: Shyama Prasad Mukherji Rurban Mission
T TG @l SR- e

Candidate Answer: Shyama Prasad Mukherji Rurban Mission

T YTE @l SR-3fe R

QID : 144 - Who invented the electrocardiogram (ECG)?

TodCIBISaIITH (SHTst) &1 SMfawsR fben fhar
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Options:
1) Willem Einthoven
[ERSERSICE]
2) Edward Jenner

TSATS R

3) Antonio de Ulloa and Charles Wood
A & Jewrar

Il 48
4) Karl Benz
BT St

Correct Answer: Willem Einthoven
[CRERIEE]
Candidate Answer: Karl Benz

B a7

QID : 145 - Who is the winner of 2017 Formula One Chinese Grand Prix?

2017 WIHaT 9 argiet ATt 1 3o # 82
Options:
1) Sebastian Vettel

2) Lewis Hamilton
3) Valtteri Bottas

4) Kimi Raikkonen
fort
Correct Answer: Lewis Hamilton

Candidate Answer: Lewis Hamilton

QID : 146 - In which city of India is Charminar located?

IRYAR URA & g TR & fRa 72
Options:
1) Pune

2) Delhi

3% _Aurangabad

4) Hyderabad
Correct Answer: Hyderabad

Candidate Answer: Hyderabad

QID : 147 - Which of the following was the winner of the Grammy Awards 2016 "Record of the Year"?

frofafaa § ¥ I @R 2016 T8 &1 "RPTS 31T ¢ 3TR o o1 a1 ur?
Options:
1) Uptown Funk
33 heb
2) Really Love
NEl
3) Thinking Out Loud
fAfd 33e Ags
4) Bla

nk Space
%? Y

Correct Answer: Uptown Funk
3{UCT3d b
Candidate Answer: [ NOT ANSWERED ]

QID : 148 - 1. The author of the novel 'Darkness at Noon' is Victor LaValle.
2. The author of the novel 'The Great Gatsby' is F. Scott Fitzgerald.

3. The author of the novel 'The Sound and the Fury' is L. Ron Hubbard.
Which of the statements given above are not correct?

1. U "SI U " F oAb fagex draed g1

2. T 'S I Teqa" & AGH T, Tpie {hewikies
3. ITUY "E UGS U8 € BRI" F AW U, I 8IS B
IRIGd T F B F YT T 82
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Options:

1) 1and 2
13k 2
2)2and 3
29R3
3)land3
13k 3
4)1,2and 3
1,29R3
Correct Answer: 1 and 3
13k 3

Candidate Answer: [ NOT ANSWERED ]

QID : 149 - What was Norway's rank in 2016 Human Development Index published by the United Nations Development Programme?

2016 § TSGR 1Y [P SRIHH GRT USRI Aa [ Yaaie & A1d &1 9ot 7@ o
Options:
1)1

2) 10
3) 100

4) 200
Correct Answer: 1
Candidate Answer: 1

QID : 150 - Which country is not a member of Bay of Bengal Initiative for Multi-Sectoral Technical and Economic Cooperation (BIMSTEC)?

B 1 2T §g-810 deie 3R s FedI % R STt Bl WE! Ued (SETHTESIE) B Jow e &2
Opti H
Options:

2) Myanmar
AR
3) India

4) Pakistan
i@
Correct Answer: Pakistan

Candidate Answer: Pakistan

QID : 151 - What is the value of 9991 x 10009?

9991 x 10009 T A T 3?
Options:

1) 99999099

2) 99999819

3) 99999919

4) 99999019

Correct Answer: 99999919

Candidate Answer: 99999919

QID: 152 - Acando 1/3"9 of a job in 3 days and B can do half of the job in 9 days. If they work on it together, then in how many days can they finish half of the
job?

AW%E%[ 1/3-at YT 3 o & qR1 R Gt § SR B I BT BT 3141 YR 9 o & U1 % opdl §1 AT F $H R TH WY HTH 6 ¢ al 3 fbe 1 T aien v
QUG ?

Options:

1)4

2)5

3)6

4)3

Correct Answer: 3

Candidate Answer: 6

QID : 153 - What is the area (in sq cm) of a rhombus if the lengths of its diagonals are 25 cm and 20 cm?

TP I TGS FT SFIwa (T 9.1, F) T 81, 3R I faw il Bi dars 25 I, ok 20 9., 72
Options:

1) 500

2) 250

3) 125

4) 200

Correct Answer: 250

Candidate Answer: 250
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QID : 154 - If a shopkeeper sells an item at Rs 4200 which is marked as Rs 4800, then what is the discount (in %) that he is offering?

e T GHMR 4200 T W TP I I9d § o1 3ifdhd qeu 4800 ¥ 8, A 98 ot Ge (% H) B IS R 6T 82
Options:

1) 12.5

2) 14.28

3) 10

4)15

Correct Answer: 12.5

Candidate Answer: 12.5

QID : 155 - The flight fare between two cities is increased in the ratio 11:13. What is the increase (in Rs) in the fare, if the original fare was Rs 12100?

& I & S IS BT IR 11:13 & JuTd & e faan mar 31 afe g fmvmar 12100 ¥ o1, @ v A g2 F@adt (3 H) fovart 82
Options:

1) 14300

2) 2200

3) 22000

4) 1430

Correct Answer: 2200
Candidate Answer: 2200

QID : 156 - 3 numbers whose average is 112, the first number is 1/6% the sum of other 2. What is the first number?

3 TR et 3 112 8, IH Ugel TReAT T A 31 2 Wait & TN T 1/6-a1 M & | TSl I m giit?
Options:

1) 45

2) 30

3) 15

4)48

Correct Answer: 48

Candidate Answer: 48

QID : 157 - A trader buys 800 kgs of tomatoes for Rs 7200. 10% tomatoes are damaged in transportaion. At what rate (Rs/Kg) should he sell the rest to earn 30%
profit?

merqr\f’r 7200 % ¥ 800 5. 1. THTCR Wiledr 81 uRaga & 10% THICR @RS 81 S &1 30% aTH 3iffd o & fRie 39 a1t 1 erer fbg &R (3 / f6.01) W a=m
?

Options:

1)9

2)13

3) 10

4) 12

Correct Answer: 13
Candidate Answer: 13

QID : 158 - A student has to secure 35% marks to pass in a subject. If he gets 82 and fails by 23 marks. What is the maximum marks of the subject?
TP B B U 90 F U 81 & U 35% i Al Bra 811 afe I 82 ik e § ok a5 23 oich! I et &) S © a 39 vy Faifireran 3iw fham @ gnl?

Options:

1) 300

2) 250

3) 350

4) 400

Correct Answer: 300
Candidate Answer: 300

QID : 159 - A spaceship travels at 810 km/hr. How many metres does it travel in 1/5% of a second?

T SIRe A 810 fFhaidieR / €2 P THIR J A1 HRAT 31 T8 1/5-3 WS | fpant Hiex Bt amn Hame
Options:

1) 60

2) 45

3)75

4) 90

Correct Answer: 45

Candidate Answer: 45

QID : 160 - If the amount received at the end of 2"d and 31 year as Compound Interest on a certain Principal is Rs 2100, and Rs 2268 respectively, what is the
rate (in %) of interest?

e U R Aere IR Tshgig STe gRT guR 3R R ay I 81 aTelt IR A 2100 T 3R 2268 T 7, T SIS &R (% H) FT Rl
Options:

1)7

2)8

3)9

4)10

Correct Answer: 8
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Candidate Answer: 8

QID: 161 - If 5x - (1/2)(2x -7) = 5.5, then what is the value of x?

g 5x - (1/2)(2x-7) = 5.5 B @l x T A T 8?2
Options:

1) 3/2

2)1/2

3)-1/2

4) -3/2

Correct Answer: 1/2

Candidate Answer: 1/2

QID:162-Ifa+ b =4 and ab = -5, then what is the value of a3 + b

gfda+b=43Rab=-58d a3+ b3 &
Options:

1) 34

2) 36

3) 124

4) 126

Correct Answer: 124
Candidate Answer: 124

QID : 163 - The sum of a number and 4 times its reciprocal is 5. What is the number?

TP T 3R IqF bW & 4 0N HT AN 5 3| I§ T T 82
Options:

1) 4

2)5

3)6

4)7

Correct Answer: 4

Candidate Answer: 4

QID: 164 - The 3" and 8t term of an arithmetic progression are -13 and 2 respectively. What is the 14t term?

TR oft 7 R SR sMraat e HHE: -13 3R 2 1 14-97 U 7 82
Options:

1) 23

2) 17

3)20

4) 26

Correct Answer: 20

Candidate Answer: 17

QID : 165 - What is the reflection of the point (4 , -3) in the liney = 1?

Xy = 1 % faig (4, -3) &1 vfafas w7 g2
Options:

1) (4,-5)

2)(4,5)

3) (-4, -5)

4) (-4, 5)

Correct Answer: (4, 5)

Candidate Answer: (4, 5)

QID : 166 - In what ratio does the point T(x, 0) divide the segment joining the points S(5, 1) and U(-1, -2)?

g T(x, 0), f¥g S(5, 1) 3R &g U(-1, -2) T s T10 IWES & b argurd & fAuifird &=ar 82
Options:

1)2:1

2)1:2

3)3:1

4)2:3

Correct Answer: 1: 2

Candidate Answer: 2 : 1

QID : 167 - At what point does the line 3x + 2y = 12 cuts the Y-axis?

@I 3x + 2y = 12 {59 g W v-3181 B Predt 82
Options:

1) (0, 6)

2) (0, -6)

3) (6, 0)

4) (-6, 0)

Correct Answer: (0, 6)

Candidate Answer: (0, 6)
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QID : 168 - The areas of two similar triangles AABC and APQR are 121 sq cms and 64 sq cms respectively. If PQ = 12 cm, what is the length (in cm) of AB?

3 TR Y AABC 3R APQR &1 &athd S 121 oif .41, 3R 64 o Q.. B1 afe pQ = 12 J.71. & Y AB &t darg ({1, &) fobart B2
Opti H

17,95

2)6.25

3) 16.5

4)5.25

Correct Answer: 16.5
Candidate Answer: 16.5

QID : 169 - What is the value of Tan 60° + Cosec 60°?

Tan 60° + Cosec 60° T A &1 §?
Options:

1) 5/3

2) 2/V3

3)5/V3

4) 2/3

Correct Answer: 5/v/3
Candidate Answer: 5/v3

QID: 170 - A XYZ is right angled at Y. If mzZ = 60°, then what is the value of (1/v2) Sec X?

AXYZ, Y TR IHBI0 81 TS m2Z = 60° B, @ (1/v/2) Sec X T HM 1 82
Options:

1) 2/v3

2) 1/v6

3) 1/V3

4) 2/\/6

Correct Answer: 2/V6

Candidate Answer: 2/V6

QID: 171 - If Cosec 6 = 17/8, then what is the value of Cos 6?

Ife Cosec 6 = 17/8 8, @ Cos 6 HT A &1 32
Options:

1) 15/8

2) 15/17

3) 8/15

4) 17/15

Correct Answer: 15/17

Candidate Answer: 15/17

QID:172-

The bar graph shows GDP for the year 2016 in billion USD of sbe countries
{A, B, C, D, E, F) of aregional trade block. Study the diagram and answer the
following questions.

AR W T 2006 F 0F &G IEEAE w@ie § OF £ (A,8,C,0,6F)

& TFA (A 329 (3R Al sred ). aafan 31 56 @ & o
& IR farafaf@a vt &1 s &)

120
; »
100 P
fg E &0 70
~ a0 50
2
a0 -
i § 20
2
- l i
2 0
= A e ¢ D 3 £
Country / 2%

Which country is the third biggest in terms of Gross Domestic Product (GDP)?

el AT ITE (SN S ) P Hely H BN 1 O AR RIM W I 997 2
Options:

1)A

2)C

3)E

4)F

Correct Answer: C
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Candidate Answer: C

QID:173 -

The bar graph shows GDP for the year 2016 in billion USD of six countries
(A, B, C, D, E, F) of aregional trade block. Study the diagram and answer the
following questions.

aR WE a4 2016 H F A cawidE wie & oF 23 (A.8,C,0,6F)

& FEE LA IeUIE (@ HA0E se] ) Zofian &) 59 v & e
mmﬁmﬁ’rﬁ%m‘iﬂmtl L =

120
E 100
100 %0
£
E E 8o 70
a
- 40 30
it .
20
- i
& 0!
= A e ¢ o 3 3
Country / &%

By what amount (in billion USD) is the Gross Domestic Product (GDP) of Country A lesser than that of Country F?

A FT HHd T TG (S S ), I F F et IR (3RT i@t SR H) F W g7
Options:

1) 20

2) 50

3)25

4) 40

Correct Answer: 40

Candidate Answer: 20

QID: 174 -

The bar graph shows GDP for the year 2016 in billion USD of six countries
(A, B, C, D, E, F) of aregional trade block. Study the diagram and answer the
following questions.

aR aE T 2016¥ F dff cawidE wie & 05 & (A8,C,0,EF)

F THE AT e (@ HANE SR H) ol B 56 v &1 avaaa
ﬁmm':rma‘iﬂmtl % =

120 . U\
E 100

100 %
E E &0 70
2

40 30
=

20
1! .
: i
g 0!
= A [ ¢ D £ £
Country / &%

What is the ratio of Gross Domestic Product (GDP) of Country E to Total of GDPs of countries A, C and F taken together?

IWE FTAVA,C IR F & T Ihd YT 3G (S S Ty I a1 Sguma &1 32
Options:

1)3:5

2)5:3

3)9:5

4)5:9

Correct Answer: 3 : 5

Candidate Answer: 3 : 5
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QID: 175 -
The bar graph shows GDP for the year 2016 in billion USD of six countries
(&, B, C, D, £, F) of aregional trade block. Study the diagram and answer the
following questions.

AR WME T 2016 F UF AAG wwEWAE @iF & O 230 (A, 8,60, F)

F TEA AT 0 (@ HANE ST #) ol B 59 @ & eada
&Y MR farafaf@a vt &1 e &

120
; "

100 %0
% E 80 70

&0
- 50
a
L 40 30
Hl- 20
i = 2
. L
E 0

A B C D E F
Country f &%

If the combined GDP of the six countries has grown by 50% in the last decade, then what was their combined annual Gross Domestic Product (in billion USD) before

10 years?

Ife e axe © B3 o & 9gad Yod T SAIG H 50% P Jis g5 o, a 10 T4 U5 I70T UG JIMd T YT IJdTq (3RT 3ID! STaR #) foba ure
Options:

1)p 540

2) 180

3) 240

4) 200

Correct Answer: 240

Candidate Answer: [ NOT ANSWERED ]

QID : 176 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Water was dripping (1)/ of the trees, and (2)/ the grass was wet. (3)/No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: 1

QID : 177 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Pravin sat up on the (1)/ sofa, with his legs (2)/ tucked down him. (3)/No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 3

Candidate Answer: 2

QID : 178 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

At night, the hungry orphan would sneak into the kitchen and tiny amounts of food.
Options:

1) prefer

2) lifter

3) differ

4) pilfer

Correct Answer: pilfer

Candidate Answer: pilfer

QID : 179 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

As the only person in the wacky family, the sensible girl felt like the odd woman out.

http://thepracticetest.in/cs_cglet1 _D/&Wdihk@ _ElﬂeMﬁH' [lg) @@p@m{ammww Wd@%@gﬂb@& {eoshi 7i712c90c3885¢
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Options:

1) insane

2) vain

3) sane

4) main

Correct Answer: sane
Candidate Answer: insane

QID : 180 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Piquancy

Options:

1) Bland

2) Flavouring

3) Insipid

4) Tedious

Correct Answer: Flavouring

Candidate Answer: Insipid

QID : 181 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

To Confront
Options:

1) To Avoid
2) To Dodge
3) To Yield
4) To Accost

Correct Answer: To Accost
Candidate Answer: To Dodge

QID : 182 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Savant
Options:

1) Amateur
2) Academic
3) Pundit

4) Egghead

Correct Answer: Amateur
Candidate Answer: [ NOT ANSWERED ]

QID : 183 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

To Indict
Options:

1) To Arraign

2) To Censure
3) To Exonerate
4) To Impeach

Correct Answer: To Exonerate
Candidate Answer: To Exonerate

QID : 184 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

To Have bitten off more than you can chew

Options:

1) To eat voraciously and then fall sick

2) To behave disrespectfully towards elders and then repent the act

3) To have tried to do something which is too difficult

4) To have missed a golden opportunity and after that willing to put twice the effort to recover the loss

Correct Answer: To have tried to do something which is too difficult
Candidate Answer: To have tried to do something which is too difficult

QID : 185 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Out of print

Options:

1) Not able to print due to being short on paper

2) A book no longer available from the publisher

3) Intentionally not mention some items in the article or book
4) All publishers refuse to publish your book

Correct Answer: A book no longer available from the publisher
Candidate Answer: A book no longer available from the publisher

QID : 186 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

I'm (having to) too much fun.
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Options:

1) having

2) had

3) has

4) no improvement
Correct Answer: having

Candidate Answer: having

QID : 187 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

What would the cavalry (doing) out here?
Options:

1) be doing

2) be done

3) done

4) no improvement

Correct Answer: be doing

Candidate Answer: no improvement

QID : 188 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

In exactly the same words as were used originally
Options:

1) Verbatim

2) Offbeat

3) Divergent

4) Contrary

Correct Answer: Verbatim

Candidate Answer: Verbatim

QID : 189 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

A person inclined to question or doubt accepted opinions
Options:

1) Adherent

2) Sceptic

3) Zealot

4) Disciple

Correct Answer: Sceptic

Candidate Answer: Sceptic

QID : 190 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) Ditheering

2) Dethering

3) Dithering

4) Detheering

Correct Answer: Dithering

Candidate Answer: Dithering

QID : 191 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) Throtled

2) Throttlede

3) Throtlede

4) Throttled

Correct Answer: Throttled

Candidate Answer: Throttled

QID : 192 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

Children are sensitive

X-to what happens around them and are
Y-enthusiastic about working on

Z-plays that reflect their lives

Options:

1) ZYX

2) XYZ

3) ZXY

4) YZX

Correct Answer: XYZ

Candidate Answer: XYZ
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QID : 193 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

But this does not mean
X-phenomena to the body
Y-is a meaningless expression
Z-that the reference of mental
Options:

1) YZX

2) ZXY

3) YXZ

4) Xz

Correct Answer: ZXY
Candidate Answer: ZXY

QID : 194 - In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

The travel agent is making all the reservations.

Options:

1) All the reservations is made by the travel agent.

2) All the reserving will be made by the travel agent.

3) All the reservations are being made by the travel agent.

4) All the reserving is made by the travel agent.

Correct Answer: All the reservations are being made by the travel agent.

Candidate Answer: All the reservations are being made by the travel agent.

QID : 195 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

He said to the dentist, "I have a toothache."”

Options:

1) He told the dentist that I have a toothache.

2) He told the dentist that he had gotten a toothache.

3) He told the dentist that he had a toothache.

4) He told the dentist that I have a gotten toothache.

Correct Answer: He told the dentist that he had a toothache.

Candidate Answer: He told the dentist that he had a toothache.

QID : 196 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The Trikonasana, or triangle pose, stimulates the function of the entire body and a lateral (side) stretch to the spine. It helps
reduce blood pressure, stress, and anxiety. Practise this asana every day and you'll strength in the ankles, thighs, knees, hips, calves
and hamstrings. All standing poses the cardiovascular system, so the more you do it, the your stamina will become. The
aim is never to overdo it, but to engage regularly, that you get stronger and more stable over time.

function of the entire body and a lateral (side) stretch

Options:

1) given

2) gave

3) to give

4) gives

Correct Answer: gives
Candidate Answer: to give

QID : 197 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The Trikonasana, or triangle pose, stimulates the function of the entire body and a lateral (side) stretch to the spine. It helps
reduce blood pressure, stress, and anxiety. Practise this asana every day and you'll strength in the ankles, thighs, knees, hips, calves
and hamstrings. All standing poses the cardiovascular system, so the more you do it, the your stamina will become. The
aim is never to overdo it, but to engage regularly, that you get stronger and more stable over time.

you'll strength in the ankles, thighs, knees, hips

Options:

1) gaining

2) gain

3) gained

4) to gain

Correct Answer: gain
Candidate Answer: gain
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QID : 198 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The Trikonasana, or triangle pose, stimulates the function of theentirebodyand___ a lateral (side) stretch to the spine. It helps
reduce blood pressure, stress, and anxiety. Practise this asana everydayandyou'll _______ strength in the ankles, thighs, knees, hips, calves
and hamstrings. All standing poses the cardiovascular system, so the more you do it, the your stamina will become. The
aim is never to overdo it, but to engage regularly, that you get stronger and more stable over time.

All standing poses the cardiovascular system

Options:

1) built

2) build

3) building

4) to build

Correct Answer: build
Candidate Answer: build

QID : 199 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The Trikonasana, or triangle pose, stimulates the function of the entire body and a lateral (side) stretch to the spine. It helps
reduce blood pressure, stress, and anxiety. Practise this asana everydayandyou'll_______ strength in the ankles, thighs, knees, hips, calves
and hamstrings. All standing poses the cardiovascular system, so the more you do it, the your stamina will become. The
aim is never to overdo it, but to engage regularly, that you get stronger and more stable over time.

so the more you do it, the your stamina.

Options:

1) best

2) better

3) good

4) too good

Correct Answer: better
Candidate Answer: better

QID : 200 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The Trikonasana, or triangle pose, stimulates the function of the entire body and a lateral (side) stretch to the spine. It helps
reduce blood pressure, stress, and anxiety. Practise this asana every day and you'll strength in the ankles, thighs, knees, hips, calves
and hamstrings. All standing poses the cardiovascular system, so the more you do it, the your stamina will become. The
aim is never to overdo it, but to engage regularly, that you get stronger and more stable over time.

to engage regularly, that you get stronger and more stable

Options:

1) if

2) of

3) so

4) to

Correct Answer: so
Candidate Answer: so

http://thepracticetest.in/cs_cglet1_]@/€b’s'}:)’d>hl§é _&ﬁleMﬁ)sf@\ d‘?@pﬂ\n‘ﬁ:\&dﬂiwﬂm‘#&ﬁb&d@BB‘S@E]IG‘D—’S@Y {eos 77112c90c3885¢ 25/25



